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QUESTION 1

You have a situation where a collection of rules might provide a flexible way of externalizing logic in an application. 

Which two are accurate considerations to access as you decide to use a decision table or if-then rules? (Choose two.) 

A. The decision table\\'s spreadsheet metaphor is compact and familiar to end users. 

B. Decision tables can use globals while if-then rules cannot. 

C. The logic likely requires more rules if expressed as a decision table. 

D. Unlike with a decision table, an Expression Builder is provided for if-then rules to help you craft condition
expressions. 

E. Built-in error prevention features for decision tables can help you build more complete and accurate rules. 

Correct Answer: BE  

 

QUESTION 2

The initial performer of a task is determined by the role associated with the swim lane in which the task is modeled
except when you use a(n) _______. 

A. complex task 

B. user task 

C. FYI task 

D. group task 

Correct Answer: A 

Explanation: A complex user task uses a complex routing flow that is defined within the humantask.BPM Studio offers a
number of human task patterns out of the box, to make it easy to implementthe most common types of human tasks.
For example, the Simple pattern just assigns individualusers or groups. The Management pattern is used for a
sequential list of approvers up themanagement chain. Initiator is for the person who kicks off the process.For most of
these,swimlane roles are used to determine assignments. For the Complex task, however, the swimlaneis irrelevant,
and routing and assignments are typically more complicated.Note: Swimlanes are the horizontal lines that run across
the process editor. All flow objects mustbe placed within a swimlane.Swimlanes can also be used to group flow objects
based on the roles defined within your process.Swimlanes that contain user tasks must have roles assigned to them.
Swimlanes visually displaythe role responsible for performing each flow object within your process. Additionally, you
canhave multiple swimlanes that are assigned to the same role.Swimlanes can make your process more readable when
you must use the same role in differentparts of the same process. 

 

QUESTION 3

Which human workflow service is used to get the list of outcomes defined for a task? 

A. IRuntimeConfigService 
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B. ITaskQueryService 

C. ITaskService 

D. ITaskMetadataService 

Correct Answer: B 

Explanation: Query the list of tasks using ITaskQueryService. 

Reference: http://docs.oracle.com/cd/E15586_01/integration.1111/e10224/bp_worklistcust.htm 

 

QUESTION 4

Which three actions are available when using business rules for a case? (Choose three.) 

A. Activate activities. 

B. Set an activity\\'s relevance. 

C. Change a milestone deadline. 

D. Change a required activity to an optional activity. 

E. Modify case data. 

Correct Answer: CDE 

 

 

QUESTION 5

Which two statements are true about out-of-the-box metrics support in BPM Suite? (Choose two.) 

A. If you want to know average time spent in each activity in your process, you can look at the workload per process
dashboard in Business Process Workspace. 

B. By default, in standard dashboards that display data about in-flight instances, there is a 30- minute delay before up-to-
date data appear in the charts. 

C. You can only view out-of-the-box metrics in charts created in Business Process Workspace. 

D. During process execution, when a sampling point is reached, the BPMN Service Engine collects all standard process
metrics that are prespecified out-of-the-box. 

Correct Answer: CD 
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